How many1? Name Year

................................................................

Work out the answer to each story problem. Show how you worked it out.
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1. Allison has 7 Woolies animal cards. Her Aunty gives her 5 more cards. How many

does she now have?

2. Rachel has 12 pet fish. She has 7 gold fish and the rest are fighting fish. How
many fighting fish does Rac

3. There are 5 boys and some girls at dance practice. All the boys take a girl as their
partner. There are 2 girls without partners. How many girls are there?
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4, Mark is 7 years old. Eliseis 2 )Learjs younger than Mark. How old is Elise?
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Howmany 2? Name Year

................................................................

Work out the answer to each story problem. Show how you worked it out.
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1. Jenny takes $30 to the bookfair and buys 2 books. If she receives $18.60 change,
how much did the books cost?

1.2 30-18:60 = $ /49
: ‘-________—;J
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2. Steven is standing at this signpost.
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What is the distance between the train station and the shopping centre?

3. Each student at the school dance is given a can of softdrink and a packet of chips.
The organisers have bought 228 cans of softdrink, If 176 students attend the dance,
how many cans of softdrink will be left over?

5. Altogether James and Benny have scored 28 goals for their soccer team. James
scored 10 more goals than Benny. How many goals did Benny score?

2%
B+ 1o+ B =28
i BB = (8 J \8
Jis

B=9 6:10 ‘T"E)



How many 3 ?

Work out the answer to each story problem. Show how you worked it out.

(’_

1. Jenny buys 2 books at the book fair for $36. If she spent 3 of her money on the
books, how much money did she take to the fair?

7 12 r b2 rHZTH
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2. 45% of students in Year 8 are boys. If there are 121 girls in Year 8, how many
students are there altogether?

Al 1% =2l 58
121 | 4% = 240l
55—% 100% = o?roz x (00
3. What is the length of the side labelled a? - fﬁz—o. ’
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4. The perimeter of a garden 18.9m. Lachlan uses twice as many pavers to edge the

length of the garden as the width. If the pavers are 45cm long, how many pavers
does Lachlan use edge the longest side of the garden?
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[ = 2xw > 2x3415= 63m
Fowers = 630 = 45 = /4




Empty Boxes Name Year
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What numbers and symbols would you use on the calculator to solve the following problems?

2 3

117 + = 36 i b= T T

3.35=| |+16 J5-/6 =
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aas-Tew. 3=l > . e I .

5. 462 898 + = 842701 ....0.7.2., ’45235003 ......................

7. 12 - =3 A =3 .=




Cupcake Problems 1 Name Year

................................................................

Work out the answer to each story problem. Show how you worked it out.
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1. The baker has made 24 cupcakes. He wants to put 4 cupcakes in each box.
How many boxes will he need?
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2. Jessie is putting 3 M&Ms on each cupcake. There are 8 cupcakes.
How many M&Ms will she need?
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3. Fran has 18 cupcakes and 6 plates. How many cupcakes should she put on
each plate if she wants the same number of cupcakes on each plate?
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Cupcake Problems 2 Name Year

................................................................

Work out the answer to each story problem. Show how you worked it out.
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1. Lara has 15 cupcakes which she places on a tray. If she places 5 cupcakes in each
row, how many rows of cupcakes will Lara have on the tray?
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2. Jeff can make chocolate, vanilla, strawberry and choc chip flavoured cupcakes. He
uses M&Ms, cherries and sprinkles to decorate the cupcakes. How many different
cupcakes can Jeff make?

2

; 4x5=.7
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3. Kate uses 12 M&Ms to decorate 4 cupcakes. How many M&Ms will she need to
decorate 20 cupcakes?
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4, Coco buys 4 cupcakes for $6. How m cupcakes cost?
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Calculator number sentences 1

Write the equation to solve each problem.
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6x18=/08
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Year

Name

Calculator number sentences 2

Werite the equation to solve each problem.
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